QUIZ#4- CHAPTER 4
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Name: [<Q-V Id#: Sect.#:
7

The speed of the water flow with respect to the ground in a river is 5.0 m/s toward the west. A
boat with a speed of 15 m/s relative to the water leaves point A and heads in such a way that it
crosses to point B.

(a) What is the speed of the boat relative to the ground?

(b) In what direction relative to the Noit‘f} must the boat be pointed?
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A t =0, a particle starts at the orizin and moving in the x-y plane with a constant acceleration
a = 2i - 5j (m/s%), has an initial velocity vo = 5i m/s.

(a) What is the speed of the particlc at t = 2s?

(b) What is the position of the particle at t = 2s?
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A stone is thrown from 'he top ouilding as shown in the figure with a speed of 20.0 m/s. The
stone hits the ground afi r 4.22 m the time is was thrown.
(a) How high is the bui! ling?
(b) What is the speed of the sto st before hitting the ground? 30:0 m_?.- <
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